


(a)56.2391 

(b)54.2391

(c)52.2394  

(d)51.2391

(e) NONE



An Addition and Subtraction of Fraction



Ex: 8
5

7
+ 6

4

5
− 3

8

9
− 4

5

7
=?



Ex:18
3

2
+15

4

5
+3

8

9
=?+4

5

7



Ex: 18
3

4
+15

4

5
−3

1

4
=? +16

1

2



Ex:13
3

7
+18

1

4
+ 8

3

4
=?



Ex:3
2

7
+6

1

7
− 2

1

7
+ 13

2

3
=?



(a)-1 1/12 

(b)11/12 

(c)-11/12 

(d)1 1/12

(e) NONE



(a) 2 7/4

(b) 3 7/40

(c)  9 5/8

(d)10 7/8

(e) NONE



(a) 1 3/28

(b) 3  1/4

(c)  3 3/14

(d)3  1/28

(e) NONE



(a) 11  13/14

(b) 13  11/14

(c) 13  13/14 

(d) 14  11/13

(e)NONE



(a) 4 596/715

(b) 4 521/715

(c) 9 324/715 

(d)9 386/715

(e) NONE



(a)2/3 

(b) 3/2

(c)17/18  

(d)3

(e) NONE



(a) 2

(b)2.5 

(c)3  

(d)3.5

(e) NONE



(a)3 2/5 

(b)4 2/5 

(c) 6 2/5 

(d)5 2/5

(e) NONE



3.1 + 3.11 + 3.111 + 3.1111+ 3.11111 = ?   

(a)15.34321 

(b)15.54321

(c)15.53321  

(d)15.43321

(e) NONE



0.4 + 0.44 + 0.4444 + 0.44444 = ?   

(a) 1.72884

(b)1.76884

(c)1.74884  

(d)1.78884

(e) NONE



45.1 +53.642 + 4.5521 −30.53 = ?   

(a) 72.7441

(b)73.1241

(c)72.7641  

(d)76.4631

(e) NONE



54.35− 53.322 +  43.65 − 36.24 + 42.643 ?   

(a)61.081 

(b)71.081

(c)41.081  

(d)51.081

(e) NONE



76.23 − 54.112 +53.5421 − 21.421= ?   

(a)56.2391 

(b)54.2391

(c)52.2394  

(d)51.2391

(e) NONE



(a)56.2391 

(b)54.2391

(c)52.2394  

(d)51.2391

(e) NONE


